

QUANTUM INTEGRAL INEQUALITIES ON THE PATTERN OF OSTROWSKI AND OSTROWSKI-GRÜSS TYPE INEQUALITIES

Ghulam FARID¹, Mawahib ELAMIN², Sayed Abdel-KHALEK³

In this paper, we establish some well known integral inequalities for quantum calculus. By applying q -integral and q -derivative formulas Ostrowski and Ostrowski-Grüss type inequalities for q -integrals are obtained. In particular cases, some interesting consequences are produced. Two versions of Hadamard type inequalities are given in premises of quantum calculus.

Keywords: Ostrowski inequality; Ostrowski-Grüss inequality; q -derivative; q -integral; Hadamard inequality.

MSC2020: 26A24, 26A33, 26A51, 26B15, 33E12.

1. Introduction

Classical mathematical concepts and notions are core entities in the development of new and generalized theories. For instance concept of limit was initiated to determine the value of a function at a point where it is undetermined. Later on it was used to define the derivative of a function which leads to the mathematical modeling of real world problems in the form of initial and boundary value problems, dynamical systems, control systems. The concept of fractional order derivatives was initiated at the same time when the usual derivative was invented. In this modern age of technology and artificial intelligence mathematical notions have been extended and generalized in plenty of ways.

Fractional derivatives and integrals of various types have been invented, and are applied for formulating generalized theories and notations. In solving fractional differential equations one need new kinds of special functions such as Mittag-Leffler function, hypergeometric function etc. More generally speaking theory of fractional calculus is actually applicable not only in mathematics but also in biology, medicine, mechanics, control theory and many other disciplines.

The notions q -derivative and q -integral are the generalizations of usual derivative and integral, that have interesting applications engineering and sciences. Mathematical concepts linked with ordinary derivatives and integrals have been converted into q -calculus such as q -polynomials, q -Taylor formula, q -gamma function, q -beta function q -hypergeometric function, q -Laplace transform etc can be found in literature. For a detailed study and applications of q -calculus we refer the readers to [1, 2, 3, 4, 5, 6, 7]. The q -derivative is defined by

$$D_q f(x) = \frac{f(qx) - f(x)}{(q-1)x}. \quad (1)$$

¹ Department of Mathematics, COMSATS University Islamabad, Attock Campus, Pakistan e-mail: faridphdsms@outlook.com

² Department of Mathematics, College of Science, Qassim University, Buraydah, 51452, Saudi Arabia e-mail: ma.elhag@qu.edu.sa

³ Department of Mathematics and Statistics, College of Science, Taif University, P.O. Box11099, Taif 21944, Saudi Arabia e-mail: sabotalb@tu.edu.sa

From equation (1) it can be found that

$$D_q f(qx) = \frac{f(q^2x) - f(x)}{(q-1)x} - D_q f(x). \quad (2)$$

The above formulas (1) and (2) will be used frequently in establishing results of this paper. The q -integral is defined by

$$\int_0^x f(t) d_q t = x(1-q) \sum_{i=0}^{\infty} q^i f(q^i x),$$

and

$$\int_a^x f(t) d_q t = \int_0^x f(t) d_q t - \int_0^a f(t) d_q t.$$

Since, $D_q\{f(t)g(t)\} = f(t)D_q g(t) + g(qt)D_q f(t)$ the following formula of q -integration by parts is important to establish inequalities of this paper, see [1, p. 74]

$$\int_a^b f(t)D_q g(t)d_q t = f(b)g(b) - f(a)g(a) - \int_a^b g(qt)D_q f(t)d_q t. \quad (3)$$

The q -gamma function of a non-negative integer n is defined by

$$\Gamma_q(n+1) = 1(1+q)(1+q+q^2)\dots(1+q+\dots+q^{n-1}). \quad (4)$$

Also, $\lim_{q \rightarrow 1^-} \Gamma_q(n+1) = \Gamma(n+1) = n!$, see [2].

Another definition of q -derivative on an interval $[a, b]$ is given as follows, see [8]:

Definition 1.1. Let $u : I = [a, b] \rightarrow \mathbb{R}$ be a continuous function. For $0 < q < 1$ the q -derivative ${}_a \mathcal{D}_q u$ on I , is given by;

$${}_a \mathcal{D}_q u(\xi) := \frac{u(q\xi + (1-q)a) - u(\xi)}{(q-1)(\xi-a)}, \quad \xi \neq a, \quad {}_a \mathcal{D}_q u(a) = \lim_{\xi \rightarrow a} {}_a \mathcal{D}_q u(\xi). \quad (5)$$

Definition 1.2. [8] Let $f : [a, b] \rightarrow \mathbb{R}$ be a continuous function. Then the q -definite integral on $[a, b]$ is defined as

$$\int_a^x f(t) d_q t = (1-q)(x-a) \sum_{n=0}^{\infty} q^n f(q^n x + (1-q^n)a), \quad (6)$$

for $x \in [a, b]$, $a, b \in I$. If $c \in (a, x)$, then we have

$$\int_c^x f(t) d_q t = \int_a^x f(t) d_q t - \int_a^c f(t) d_q t. \quad (7)$$

All the above definitions and formulas will be utilized where needed, and we establish quantum versions of well known inequalities that exist in literature. Forthcoming results are worthy to mention for best understanding of the reason behind formulating results of this paper. Let us narrate historically some classical inequalities and their related improvements/refinements.

A convex function was defined in the start of twentieth century and satisfy a classical inequality, known as Hermite-Hadamard inequality and given as follows:

$$\Psi\left(\frac{u_1 + u_2}{2}\right) \leq \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(\lambda) d\lambda \leq \frac{\Psi(u_1) + \Psi(u_2)}{2}, \quad (8)$$

provided Ψ is convex on $[u_1, u_2]$. This inequality is very commonly targeted by researchers for further possible investigations. For instance it is established in routine for new classes of functions as well as for different kinds of integrals including fractional integrals, quantum integrals, conformable integrals etc. It is also very common to find its refinements/generalizations, the Hermite-Hadamard inequality is also estimated in the form of error bounds. A well

known inequality namely Ostrowski inequality also provides error bounds of inequality (8) by applying it at mid as well as boundary points of the defined interval. The Ostrowski inequality is stated as follows:

Theorem 1.1. *Let $\Psi : I \rightarrow \mathbb{R}$, be a differentiable mapping in I° , the interior of I and $u_1, u_2 \in I^\circ$, $u_1 < u_2$. If $|\Psi'(t)| \leq \mathcal{M}$ for all $t \in [u_1, u_2]$. Then for $\sigma \in [u_1, u_2]$ one can get:*

$$\left| \Psi(\sigma) - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(\lambda) d\lambda \right| \leq \left[\frac{1}{4} + \frac{(\sigma - \frac{u_1 + u_2}{2})^2}{(u_2 - u_1)^2} \right] (u_2 - u_1) \mathcal{M}. \tag{9}$$

By applying a well known Grüss inequality [11], an Ostrowski type inequality was derived in [12]. In literature it is called Ostrowski-Grüss inequality. In [13], the following Ostrowski-Grüss type inequality was established:

Theorem 1.2. *Let $\Psi : I \rightarrow \mathbb{R}$, be a differentiable mapping in I° , the interior of I and $u_1, u_2 \in I^\circ$, $u_1 < u_2$. If $\mathcal{M}_1 \leq \Psi'(\lambda) \leq \mathcal{M}_2$ for all $\lambda \in [u_1, u_2]$. Then for $\sigma \in [u_1, u_2]$ we have*

$$\left| \frac{1}{2} \Psi(\sigma) - \frac{(\sigma - u_2)\Psi(u_2) - (\sigma - u_1)\Psi(u_1)}{2(u_2 - u_1)} - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(\lambda) d\lambda \right| \tag{10}$$

$$\leq \frac{(\sigma - u_1)^2 + (u_2 - \sigma)^2}{4(u_2 - u_1)} (\mathcal{M}_2 - \mathcal{M}_1).$$

Our goal in this paper is, to investigate inequalities with conditions similar to the aforementioned results but in quantum calculus. In forthcoming section, we first derive Ostrowski inequality for q -integrals by setting condition on q -derivative to be bounded by an arbitrary function. Some consequent inequalities have direct link with recently published inequalities. An inequality similar to (10) for q -integrals is proved. We also find two inequalities applying condition on second order q -derivative to be bounded.

2. Quantum Integral Inequalities of Ostrowski Type and Linked Results

Theorem 2.1. *Let $\Psi : [u_1, u_2] \rightarrow \mathbb{R}$ be q -differentiable and $|D_q \Psi(\lambda)| \leq \eta(\lambda)$, $\lambda \in [u_1, u_2]$, where η is q -integrable. Then for $\sigma \in [u_1, u_2]$, one can have*

$$\left| \Psi(\sigma) - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(q\lambda) d_q \lambda \right| \tag{11}$$

$$\leq \frac{1}{u_2 - u_1} \left((\sigma - u_1) \int_{u_1}^{\sigma} \eta(\lambda) d_q \lambda + (u_2 - \sigma) \int_{\sigma}^{u_2} \eta(\lambda) d_q \lambda \right).$$

Proof. Under given conditions it is easy to see that the following expression is non-negative:

$$\int_{u_1}^{\sigma} (\lambda - u_1) D_q(\Psi(\lambda)) d_q \lambda + \int_{u_1}^{\sigma} (\lambda - u_1) \eta(\lambda) d_q \lambda,$$

where $\lambda \in [u_1, \sigma]$ and $\sigma \in [u_1, u_2]$. By using q -integration by parts, one can have the following inequality for q -integrals:

$$(\sigma - u_1)\Psi(\sigma) - \int_{u_1}^{\sigma} \Psi(q\lambda) d_q \lambda \geq -(\sigma - u_1) \int_{u_1}^{\sigma} \eta(\lambda) d_q \lambda. \tag{12}$$

On similar way, for $\lambda \in [\sigma, u_2]$, one can get the following inequality for q -integrals:

$$\int_{\sigma}^{u_2} (u_2 - \lambda) \eta(\lambda) d_q \lambda - \int_{\sigma}^{u_2} (u_2 - \lambda) D_q \Psi(\lambda) d_q \lambda \geq 0.$$

By using q -integration by parts, one can have the following inequality for q -integrals:

$$(u_2 - \sigma) \int_{\sigma}^{u_2} \eta(\lambda) d_q \lambda + (u_2 - \sigma)\Psi(\sigma) - \int_{\sigma}^{u_2} \Psi(q\lambda) d_q \lambda \geq 0. \tag{13}$$

After some simplifications, adding the inequalities (12) and (13), the following inequality for q -integrals hold:

$$\begin{aligned} & \Psi(\sigma) - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(q\lambda) d_q \lambda \\ & \geq -\frac{1}{u_2 - u_1} \left((\sigma - u_1) \int_{u_1}^{\sigma} \eta(\lambda) d_q \lambda + (u_2 - \sigma) \int_{\sigma}^{u_2} \eta(\lambda) d_q \lambda \right). \end{aligned} \quad (14)$$

Also, for $\lambda \in [u_1, u_2]$ the terms $(\lambda - u_1)(\eta(\lambda) - D_q(\Psi(\lambda)))$ and $(u_2 - \lambda)(\eta(\lambda) + D_q(\Psi(\lambda)))$, are non-negative. Hence, for q -integrals the following inequality holds:

$$\int_{u_1}^{\sigma} (\lambda - u_1)(\eta(\lambda) - D_q(\Psi(\lambda))) d_q \lambda + \int_{\sigma}^{u_2} (u_2 - \lambda)(\eta(\lambda) + D_q(\Psi(\lambda))) d_q \lambda \geq 0. \quad (15)$$

Making q -integration by parts one can get the following q -integral inequality:

$$\begin{aligned} & \Psi(\sigma) - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(q\lambda) d_q \lambda \\ & \leq \frac{1}{u_2 - u_1} \left((\sigma - u_1) \int_{u_1}^{\sigma} \eta(\lambda) d_q \lambda + (u_2 - \sigma) \int_{\sigma}^{u_2} \eta(\lambda) d_q \lambda \right). \end{aligned} \quad (16)$$

Inequalities (14) and (16), provide the required inequality. \square

Some examples of function η are considered to get the forthcoming results.

Remark 2.1. *By setting specific values of function η , one can obtain Ostrowski type inequalities of various forms. We consider two examples as follows:*

1. Let

$$\eta(\lambda) = \begin{cases} \frac{\|D_q \Psi\|}{\sigma - u_1} (\sigma - \lambda), & \text{if } u_1 \leq \lambda \leq \sigma \\ \frac{\|D_q \Psi\|}{u_2 - \sigma} (\lambda - \sigma), & \text{if } \sigma < \lambda \leq u_2. \end{cases} \quad (17)$$

Then inequality (11) takes the following form

$$\begin{aligned} & \left| \Psi(\sigma) - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(q\lambda) d_q \lambda \right| \\ & \leq \frac{1}{u_2 - u_1} \left(\int_{u_1}^{\sigma} (\sigma - \lambda) d_q \lambda + \int_{\sigma}^{u_2} (\lambda - \sigma) d_q \lambda \right). \end{aligned}$$

By calculating the q -integrals appearing in right hand side we get the following inequality:

$$\begin{aligned} & \left| \Psi(\sigma) - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(q\lambda) d_q \lambda \right| \\ & \leq \|D_q \Psi\| (u_2 - u_1) \left(\frac{2q}{1+q} \left(\frac{\sigma - \frac{(3q-1)a+(1+q)b}{4q}}{u_2 - u_1} \right)^2 + \frac{-q^2 + 6q - 1}{8q(1+q)} \right). \end{aligned}$$

The above inequality is exclusively proved in [8].

2. Let $\eta(\lambda) = (\lambda - u_1)^\beta$, $\beta \in \mathbb{R} - \{-1\}$. Then we have

$$\int_{u_1}^{\sigma} (\lambda - u_1)^\beta d_q \lambda = \frac{(\sigma - u_1)^{1+\beta} (1-q)}{(1 - q^{1+\beta})}, \quad (18)$$

and

$$\begin{aligned} \int_{\sigma}^{u_2} (\lambda - u_1)^\beta d_q \lambda &= \int_{u_1}^{u_2} (\lambda - u_1)^\beta d_q \lambda - \int_{u_1}^{\sigma} (\lambda - u_1)^\beta d_q \lambda \\ &= \frac{(u_2 - u_1)^{1+\beta}(1 - q)}{(1 - q^{1+\beta})} - \frac{(\sigma - u_1)^{1+\beta}(1 - q)}{(1 - q^{1+\beta})} \\ &= \frac{1 - q}{(1 - q^{1+\beta})} ((u_2 - u_1)^{1+\beta} - (\sigma - u_1)^{1+\beta}), \end{aligned} \tag{19}$$

see [8, Lemma 2.2]. The inequality (11), after putting values of q -integrals from (18) and (19) takes the following form:

$$\begin{aligned} \left| \Psi(\sigma) - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(q\lambda) d_q \lambda \right| &\leq \frac{1 - q}{(u_2 - u_1)(1 - q^{1+\beta})} \\ &\times \left((\sigma - u_1)^{2+\beta} + (u_2 - \sigma) ((u_2 - u_1)^{1+\beta} - (\sigma - u_1)^{1+\beta}) \right). \end{aligned}$$

Corollary 2.1. If η is increasing along with conditions of Theorem 2.1, then we have

$$\begin{aligned} \left| \Psi(\sigma) - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(q\lambda) d_q \lambda \right| & \\ \leq \frac{1}{u_2 - u_1} \left((\sigma - u_1)^2 \eta(\sigma) + (u_2 - \sigma)^2 \eta(u_2) \right), &\sigma \in [u_1, u_2]. \end{aligned} \tag{20}$$

If we set $\sigma = \frac{u_1 + u_2}{2}$ in (20), it appears as follows:

$$\left| \Psi\left(\frac{u_1 + u_2}{2}\right) - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(q\lambda) d_q \lambda \right| \leq \frac{u_2 - u_1}{4} \left(\eta\left(\frac{u_1 + u_2}{2}\right) + \eta(u_2) \right).$$

The second main result is q -Ostrowski-Grüss type inequality stated and proved as follows:

Theorem 2.2. Let $\Psi : [u_1, u_2] \rightarrow \mathbb{R}$ be q -differentiable and $\zeta(t) \leq D_q \Psi(t) \leq \eta(t)$, $t \in [u_1, u_2]$, where ζ, η are q -integrable. Then for $\sigma \in [u_1, u_2]$, we have:

$$\begin{aligned} \left| \frac{1}{2} \Psi(\sigma) - \frac{(\sigma - u_2)\Psi(u_2) - (\sigma - u_1)\Psi(u_1)}{2(u_2 - u_1)} - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(q\lambda) d_q \lambda \right| & \\ \leq \frac{1}{2(u_2 - u_1)} \left[(\sigma - u_1) \int_{u_1}^{\sigma} \eta(\lambda) d_q \lambda - \int_{u_1}^{\sigma} (\sigma - \lambda) \zeta(\lambda) d_q \lambda + (u_2 - \sigma) \int_{\sigma}^{u_2} \eta(\lambda) d_q \lambda \right. & \\ \left. - \int_{\sigma}^{u_2} (u_2 - \lambda) \zeta(\lambda) d_q \lambda \right]. & \end{aligned} \tag{21}$$

Proof. Under given conditions it is easy to see that the following expression is non-negative:

$$\int_{u_1}^{\sigma} (\sigma - \lambda) (D_q \Psi(\lambda) - \zeta(\lambda)) d_q \lambda + \int_{u_1}^{\sigma} (\lambda - u_1) (\eta(\lambda) - D_q \Psi(\lambda)) d_q \lambda.$$

Hence we can obtain the following inequality

$$\begin{aligned} \int_{u_1}^{\sigma} (\sigma - \lambda) D_q \Psi(\lambda) d_q \lambda - \int_{u_1}^{\sigma} (\lambda - u_1) D_q \Psi(\lambda) d_q \lambda & \\ \geq \int_{u_1}^{\sigma} (\sigma - \lambda) \zeta(\lambda) d_q \lambda - \int_{u_1}^{\sigma} (\lambda - u_1) \eta(\lambda) d_q \lambda. & \end{aligned} \tag{22}$$

Using formula (3) for q -integration by parts we have

$$(\sigma - u_1)(\Psi(u_1) + \Psi(\sigma)) - 2 \int_{u_1}^{\sigma} \Psi(q\lambda) d_q \lambda \leq (\sigma - u_1) \int_{u_1}^{\sigma} \eta(\lambda) d_q \lambda - \int_{u_1}^{\sigma} (\sigma - \lambda) \zeta(\lambda) d_q \lambda. \tag{23}$$

Under given conditions we also have the following q -integral inequality:

$$\int_{\sigma}^{u_2} (\lambda - \sigma)(\eta(\lambda) - D_q \Psi(\lambda)) d_q \lambda + \int_{\sigma}^{u_2} (u_2 - \lambda)(D_q \Psi(\lambda) - \zeta(\lambda)) d_q \lambda \geq 0.$$

Which can be rewritten as follows:

$$\begin{aligned} & \int_{\sigma}^{u_2} (u_2 - \lambda) D_q \Psi(\lambda) d_q \lambda - \int_{\sigma}^{u_2} (\lambda - \sigma) D_q \Psi(\lambda) d_q \lambda \\ & \geq \int_{\sigma}^{u_2} (u_2 - \lambda) \zeta(\lambda) d_q \lambda - \int_{\sigma}^{u_2} (\lambda - \sigma) \eta(\lambda) d_q \lambda. \end{aligned} \quad (24)$$

Doing q -integration by parts using formula (3), and also by using $\lambda - \sigma \leq u_2 - \sigma$ for $\lambda \in [\sigma, u_2]$, we have

$$\begin{aligned} & (u_2 - \sigma)(\Psi(u_2) + \Psi(\sigma)) - 2 \int_{\sigma}^{u_2} \Psi(q\lambda) d_q \lambda \\ & \leq (u_2 - \sigma) \int_{\sigma}^{u_2} \eta(\lambda) d_q \lambda - \int_{\sigma}^{u_2} \zeta(\lambda)(u_2 - \lambda) d_q \lambda. \end{aligned} \quad (25)$$

From inequalities (23) and (25), one can get

$$\begin{aligned} & \frac{1}{2} \Psi(\sigma) - \frac{(\sigma - u_2)\Psi(u_2) - (\sigma - u_1)\Psi(u_1)}{2(u_2 - u_1)} - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(q\lambda) d_q \lambda \\ & \leq \frac{1}{2(u_2 - u_1)} \left[(\sigma - u_1) \int_{u_1}^{\sigma} \eta(\lambda) d_q \lambda - \int_{u_1}^{\sigma} (\sigma - \lambda) \zeta(\lambda) d_q \lambda + (u_2 - \sigma) \int_{\sigma}^{u_2} \eta(\lambda) d_q \lambda \right. \\ & \quad \left. - \int_{\sigma}^{u_2} (u_2 - \lambda) \zeta(\lambda) d_q \lambda \right]. \end{aligned} \quad (26)$$

Now, from given condition, one can obtain the forthcoming q -integral inequalities:

$$\int_{u_1}^{\sigma} (\lambda - u_1)(D_q \Psi(\lambda) - \zeta(\lambda)) d_q \lambda + \int_{u_1}^{\sigma} (\sigma - \lambda)(\eta(\lambda) - D_q \Psi(\lambda)) d_q \lambda \geq 0. \quad (27)$$

$$\int_{\sigma}^{u_2} (u_2 - \lambda)(\eta(\lambda) - D_q \Psi(\lambda)) d_q \lambda + \int_{\sigma}^{u_2} (\lambda - \sigma)(D_q \Psi(\lambda) - \zeta(\lambda)) d_q \lambda \geq 0. \quad (28)$$

Applying q -integration by parts using formula (3) for aforementioned inequalities, and adding consequent inequalities, we get

$$\begin{aligned} & \frac{1}{2} \Psi(\sigma) - \frac{(\sigma - u_2)\Psi(u_2) - (\sigma - u_1)\Psi(u_1)}{2(u_2 - u_1)} - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(q\lambda) d_q \lambda \\ & \geq -\frac{1}{2(u_2 - u_1)} \left[(\sigma - u_1) \int_{u_1}^{\sigma} \eta(\lambda) d_q \lambda - \int_{u_1}^{\sigma} (\sigma - \lambda) \zeta(\lambda) d_q \lambda + (u_2 - \sigma) \int_{\sigma}^{u_2} \eta(\lambda) d_q \lambda \right. \\ & \quad \left. - \int_{\sigma}^{u_2} (u_2 - \lambda) \zeta(\lambda) d_q \lambda \right]. \end{aligned} \quad (29)$$

The required inequality (21) is obtained from inequalities (26) and (29). \square

Corollary 2.2. *If η and ζ are increasing along with conditions of Theorem 2.2, then we have*

$$\begin{aligned} & \left| \frac{1}{2} \Psi(\sigma) - \frac{(\sigma - u_2)\Psi(u_2) - (\sigma - u_1)\Psi(u_1)}{2(u_2 - u_1)} - \frac{1}{u_2 - u_1} \int_{u_1}^{u_2} \Psi(q\lambda) d_q \lambda \right| \\ & \leq \frac{1}{2(u_2 - u_1)} \left[(\sigma - u_1)^2 \left(\eta(\sigma) - \frac{\zeta(u_1)}{2} \right) + (u_2 - \sigma)^2 \left(\eta(u_2) - \frac{\zeta(\sigma)}{2} \right) \right]. \end{aligned} \quad (30)$$

In the following theorem we give a result for twice q -differentiable bounded functions.

Theorem 2.3. Let $\Psi : [u_1, u_2] \rightarrow \mathbb{R}$ have second order q -derivative to be bounded i.e $\zeta(\lambda) \leq D_q^2 \Psi(\lambda) \leq \eta(\lambda)$ for all $\lambda \in [u_1, u_2]$, where $\zeta, \eta \in L[u_1, u_2]$. Then for $\sigma \in [u_1, u_2]$, we have:

$$\begin{aligned} & \frac{1-q}{1+q} \left\{ \int_{u_1}^{\frac{u_1+u_2}{2}} (\lambda - u_1)^2 \zeta(\lambda) d_q \lambda + \int_{\frac{u_1+u_2}{2}}^{u_2} (u_2 - \lambda)^2 \zeta(\lambda) d_q \lambda \right\} \tag{31} \\ & \leq \int_{u_1}^{u_2} (\Psi(q^2 \lambda) + (q-1)\Psi(q\lambda) - \Psi(\lambda)) d_q \lambda + (1-q)(u_2 \Psi(u_2) - u_1 \Psi(u_1)) \\ & + \frac{2(1-q)}{1+q} \left(u_2 \Psi(qu_2) - u_1 \Psi(qu_1) - (u_2 - u_1) \Psi\left(\frac{q(u_1 + u_2)}{2}\right) \right) \\ & \leq \frac{1-q}{1+q} \left\{ \int_{u_1}^{\frac{u_1+u_2}{2}} (\lambda - u_1)^2 \eta(\lambda) d_q \lambda + \int_{\frac{u_1+u_2}{2}}^{u_2} (u_2 - \lambda)^2 \eta(\lambda) d_q \lambda \right\}. \end{aligned}$$

Proof. Under given condition on $D_q^2 \Psi$, for $\lambda \in [u_1, \frac{u_1+u_2}{2}]$ the following q -integral inequality holds:

$$\int_{u_1}^{\frac{u_1+u_2}{2}} (\lambda - u_1)^2 D_q^2 \Psi(\lambda) d_q \lambda - \int_{u_1}^{\frac{u_1+u_2}{2}} (\lambda - u_1)^2 \zeta(\lambda) d_q \lambda \geq 0. \tag{32}$$

We use q -integration by parts by applying (3), to get the following inequality:

$$\begin{aligned} & \left(\frac{u_2 - u_1}{2}\right)^2 D_q \Psi\left(\frac{u_1 + u_2}{2}\right) - \int_{u_1}^{\frac{u_1+u_2}{2}} D_q \Psi(q\lambda) ((1+q)\lambda - 2u_1) d_q \lambda \tag{33} \\ & - \int_{u_1}^{\frac{u_1+u_2}{2}} (\lambda - u_1)^2 \zeta(\lambda) d_q \lambda \geq 0. \end{aligned}$$

On simplifying, the above inequality takes the following form

$$\begin{aligned} & \left(\frac{u_2 - u_1}{2}\right)^2 D_q \Psi\left(\frac{u_1 + u_2}{2}\right) - (1+q) \int_{u_1}^{\frac{u_1+u_2}{2}} \lambda D_q \Psi(q\lambda) d_q \lambda \tag{34} \\ & + 2u_1 \int_{u_1}^{\frac{u_1+u_2}{2}} D_q \Psi(q\lambda) d_q \lambda - \int_{u_1}^{\frac{u_1+u_2}{2}} (\lambda - u_1)^2 \zeta(\lambda) d_q \lambda \geq 0. \end{aligned}$$

Now, using the formula (2) we get

$$\begin{aligned} & \left(\frac{u_2 - u_1}{2}\right)^2 D_q \Psi\left(\frac{u_1 + u_2}{2}\right) - \frac{q+1}{q-1} \int_{u_1}^{\frac{u_1+u_2}{2}} (\Psi(q^2 \lambda) - \Psi(\lambda)) d_q \lambda \tag{35} \\ & + (q+1) \int_{u_1}^{\frac{u_1+u_2}{2}} \lambda D_q \Psi(\lambda) d_q \lambda + 2u_1 \left(\Psi\left(\frac{q(u_1 + u_2)}{2}\right) - \Psi(qu_1) \right) \\ & - \int_{u_1}^{\frac{u_1+u_2}{2}} (\lambda - u_1)^2 \zeta(\lambda) d_q \lambda \geq 0. \end{aligned}$$

Applying formula (3) for doing q -integration by parts of the first term in second line of the above inequality we have

$$\begin{aligned} & \frac{(u_2 - u_1)^2}{4} D_q \Psi \left(\frac{u_1 + u_2}{2} \right) - \frac{q+1}{q-1} \int_{u_1}^{\frac{u_1+u_2}{2}} (\Psi(q^2\lambda) + (q-1)\Psi(q\lambda) - \Psi(\lambda)) d_q\lambda \quad (36) \\ & + (q+1) \left(\frac{u_1 + u_2}{2} \Psi \left(\frac{u_1 + u_2}{2} \right) - u_1 \Psi(u_1) \right) + 2u_1 \left(\Psi \left(\frac{q(u_1 + u_2)}{2} \right) - \Psi(qu_1) \right) \\ & - \int_{u_1}^{\frac{u_1+u_2}{2}} (\lambda - u_1)^2 \zeta(\lambda) d_q\lambda \geq 0. \end{aligned}$$

Furthermore, for $\lambda \in [\frac{u_1+u_2}{2}, u_2]$ we also have

$$\int_{\frac{u_1+u_2}{2}}^{u_2} (u_2 - \lambda)^2 D_q^2 \Psi(\lambda) d_q\lambda - \int_{\frac{u_1+u_2}{2}}^{u_2} (u_2 - \lambda)^2 \zeta(\lambda) d_q\lambda \geq 0. \quad (37)$$

Applying q -integration by parts twice via formula (3) and using (2), the forthcoming inequality is formulated

$$\begin{aligned} & - \frac{(u_2 - u_1)^2}{4} D_q \Psi \left(\frac{u_1 + u_2}{2} \right) - \frac{q+1}{q-1} \int_{\frac{u_1+u_2}{2}}^{u_2} (\Psi(q^2\lambda) + (q-1)\Psi(q\lambda) - \Psi(\lambda)) d_q\lambda \quad (38) \\ & + (q+1) \left(u_2 \Psi(u_2) - \frac{u_1 + u_2}{2} \Psi \left(\frac{u_1 + u_2}{2} \right) \right) + 2u_2 \left(\Psi(qu_2) - \Psi \left(\frac{q(u_1 + u_2)}{2} \right) \right) \\ & - \int_{\frac{u_1+u_2}{2}}^{u_2} (u_2 - \lambda)^2 \zeta(\lambda) d_q\lambda \geq 0. \end{aligned}$$

Inequalities (36) and (38) are added, to obtain the next inequality.

$$\begin{aligned} & \int_{u_1}^{u_2} (\Psi(q^2\lambda) + (q-1)\Psi(q\lambda) - \Psi(\lambda)) d_q\lambda + (1-q)(u_2\Psi(u_2) - u_1\Psi(u_1)) \quad (39) \\ & + \frac{2(1-q)}{1+q} \left(u_2\Psi(qu_2) - u_1\Psi(qu_1) - (u_2 - u_1)\Psi \left(\frac{q(u_1 + u_2)}{2} \right) \right) \\ & \geq \frac{1-q}{1+q} \left(\int_{\frac{u_1+u_2}{2}}^{u_2} (u_2 - \lambda)^2 \zeta(\lambda) d_q\lambda + \int_{u_1}^{\frac{u_1+u_2}{2}} (\lambda - u_1)^2 \zeta(\lambda) d_q\lambda \right). \end{aligned}$$

The proof of second inequality is on the same way; here we use the non-negativity of terms $(\lambda - u_1)^2(\eta(\lambda) - D_q^2\Psi(\lambda))$ and $(u_2 - \lambda)^2(\eta(\lambda) - D_q^2\Psi(\lambda))$, doing q -integration we get:

$$\int_{u_1}^{\frac{u_1+u_2}{2}} (\lambda - u_1)^2 (\eta(\lambda) - D_q^2\Psi(\lambda)) d_q\lambda + \int_{\frac{u_1+u_2}{2}}^{u_2} (u_2 - \lambda)^2 (\eta(\lambda) - D_q^2\Psi(\lambda)) d_q\lambda \geq 0. \quad (40)$$

By using q -integration via formulas (3) and (2), the second inequality of (31) can be computed. \square

Theorem 2.4. *The following q -integral inequality holds under suppositions of Theorem 2.3:*

$$\begin{aligned} & \frac{(1-q)(u_2-u_1)^2}{1+q} \left(\frac{1}{(u_2-u_1)^2} \int_{u_1}^{u_2} \left(\lambda - \frac{u_1+u_2}{2} \right)^2 \zeta(\lambda) d_q \lambda \right. \\ & \left. - \frac{D_q \Psi(u_2) - D_q \Psi(u_1)}{4} - \frac{(q+1)(u_2 \Psi(u_2) - u_1 \Psi(u_1))}{(u_2-u_1)^2} \right) \\ & \leq \int_{u_1}^{u_2} (\Psi(q^2 \lambda) + (q-1)\Psi(q\lambda) - \Psi(\lambda)) d_q \lambda \leq \frac{(1-q)(u_2-u_1)^2}{1+q} \\ & \times \left(\int_{u_1}^{u_2} \eta(\lambda) d_q \lambda - \frac{D_q \Psi(u_2) - D_q \Psi(u_1)}{4} - \frac{(q+1)(u_2 \Psi(u_2) - u_1 \Psi(u_1))}{(u_2-u_1)^2} \right). \end{aligned} \tag{41}$$

Proof. Let $\lambda \in [u_1, u_2]$ and by using given condition on $D_q^2 \Psi$, we have

$$\int_{u_1}^{u_2} \left(\lambda - \frac{u_1+u_2}{2} \right)^2 \eta(\lambda) d_q \lambda - \int_{u_1}^{u_2} \left(\lambda - \frac{u_1+u_2}{2} \right)^2 D_q^2 \Psi(\lambda) d_q \lambda \geq 0. \tag{42}$$

Doing q -integration by parts and for $\lambda \in [u_1, u_2]$ using $\left(\lambda - \frac{u_1+u_2}{2} \right)^2 \leq (u_2-u_1)^2$, after some rearrangement of terms the following inequality is obtained

$$\begin{aligned} & \frac{(u_2-u_1)^2(D_q \Psi(u_2) - D_q \Psi(u_1))}{4} - (q+1) \int_{u_1}^{u_2} \lambda D_q \Psi(q\lambda) d_q \lambda \\ & + (u_2-u_1) \int_{u_1}^{u_2} \lambda D_q \Psi(q\lambda) d_q \lambda \leq (u_2-u_1)^2 \int_{u_1}^{u_2} \eta(\lambda) d_q \lambda. \end{aligned} \tag{43}$$

Using formula (2) and q -integration we will get the following inequality:

$$\begin{aligned} & \int_{u_1}^{u_2} (\Psi(q^2 \lambda) + (q-1)\Psi(q\lambda) - \Psi(\lambda)) d_q \lambda \leq \frac{(1-q)(u_2-u_1)^2}{1+q} \\ & \times \left(\int_{u_1}^{u_2} \eta(\lambda) d_q \lambda - \frac{D_q \Psi(u_2) - D_q \Psi(u_1)}{4} - \frac{(q+1)(u_2 \Psi(u_2) - u_1 \Psi(u_1))}{(u_2-u_1)^2} \right). \end{aligned} \tag{44}$$

By using non-negativity of $\left(\lambda - \frac{u_1+u_2}{2} \right)^2 (D_q^2 \Psi(\lambda) - \zeta(\lambda))$ and taking q -integration we will get

$$\int_{u_1}^{u_2} \left(\lambda - \frac{u_1+u_2}{2} \right)^2 D_q^2 \Psi(\lambda) d_q \lambda \geq \int_{u_1}^{u_2} \left(\lambda - \frac{u_1+u_2}{2} \right)^2 \zeta(\lambda) d_q \lambda. \tag{45}$$

Doing q -integration by parts we get

$$\begin{aligned} & \frac{(u_2-u_1)^2(D_q \Psi(u_2) - D_q \Psi(u_1))}{4} - (q+1) \int_{u_1}^{u_2} \lambda D_q \Psi(q\lambda) d_q \lambda \\ & + (u_2-u_1) \int_{u_1}^{u_2} \lambda D_q \Psi(q\lambda) d_q \lambda \geq \int_{u_1}^{u_2} \left(\lambda - \frac{u_1+u_2}{2} \right)^2 \zeta(\lambda) d_q \lambda. \end{aligned} \tag{46}$$

Using formula (2) and q -integration we will get the first inequality of (41). □

3. Conclusion

This research established Ostrowski and Ostrowski-Grüss type inequality in quantum calculus. Those were proved by applying boundedness of first order q -derivative. By analyzing second order q -derivatives to be bounded, two q -integral inequalities similar to error estimations of the Hadamard inequality were derived.

Acknowledgment

The authors extend their appreciation to Taif University, Saudi Arabia, for supporting this work through project number (TU-DSPP-2024-08).

Funding

This research was funded by Taif University, Taif, Saudi Arabia (TU-DSPP-2024-08).

REFERENCES

- [1] Kac, V.; Cheung, V. *Quantum Calculus*. Springer, New York, NY, 2002.
- [2] Gasper, G.; Rahman, M. *Basic Hypergeometric Series*. Cambridge University Press, Cambridge, 1990.
- [3] Mansour, Z.S.I. Linear sequential q -difference equations of fractional order. *Fract. Calc. Appl. Anal.*, 12(2), (2009), 159-178.
- [4] Albayrak, D.; Purohit, S.D.; Ucar, F. On q -Laplace and q -Sumudu transforms of a product of generalized q -Bessel functions. *Math. Eng. Sci. Aerosp.*, 11(2), (2020), 355-369.
- [5] Ali, M.D.; Suthar, D.L. On the Riemann–Liouville fractional q -calculus operator involving q -Mittag–Leffler function. *Research in Mathematics*, 11(1), (2024), 2292549.
- [6] Khan, M.F.; Goswami, A.; Khan, S. Certain new subclass of multivalent q -starlike functions associated with q -symmetric calculus. *Fractal Fract.* 6 (2022), 367.
- [7] Srivastava, H.M.; Breaz, D.; Khan, S.; Tchier, F. Certain new applications of symmetric q -calculus for new subclasses of multivalent functions associated with the cardioid domain. *Axioms* 13 (2024), 366.
- [8] Tariboon, J.; Ntouyas, S.K. Quantum integral inequalities on finite intervals, *Journal of Inequalities and Applications*, 2014 (2014), 1-13.
- [9] Cerone, P.; Dragomir, S.S. *Midpoint-type rules from an inequalities point of view*, *Handbook of Analytic-Computational Methods in Applied Mathematics*, Editor: G. Anastassiou, CRC Press, New York. 2000, 135–200.
- [10] Ujević, N. Some double integral inequalities and applications. *Acta Math. Univ. Comeniana*. 2 (2002), 189–199.
- [11] Grüss, G. Über das maximum des absoluten Betrages von $\frac{1}{b-a} \int_a^b f(x)g(x)dx - \frac{1}{b-a} \int_a^b f(x)dx \int_a^b g(x)dx$. *Math. Z.* 39 (1935), 215-226.
- [12] Dragomir, S.S.; Wang, S. An inequality of Ostrowski-Grüss type and its applications to the estimation of error bounds for some special means and for some numerical quadrature rules. *Comput. Math. Appl.* 33, (1997), 15-22.
- [13] Farid, G. Straightforward proofs of Ostrowski inequality and some related results. *Int. J. Anal.* 2016 (2016), 5 pp.